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uksV& lHkh iz'u gy dhft;sA
Attempt all questions.

[k.M (v)
(Section A)

1. fuEu caVu dh ekfè;dk Kkr dhft, % 13/16

osru (#- esa) etnwjksa dh la[;k
0—10 22

10—20 38

20—30 46

30—40 35

40—50 20

Find the Median for the following distribution :

Wages (in Rs.) No. of Worker
0—10 22

10—20 38

20—30 46

30—40 35

40—50 20

P.T.O.



2. fuEu caVu ds fy, cgqyd ls ekè; fopyu Kkr dhft, % 13/17
oxZ ckjEckjrk

5—15 12
15—25 19
25—35 26
35—45 23
45—55 14
55—65 6

Calculate mean deviation about mode for the following distribution :
Class Frequency
5—15 12

15—25 19
25—35 26
35—45 23
45—55 14
55—65 6

3. fuEufyf[kr dh O;k[;k dhft, % 14/17
(a) oxks± ds Øe
(b) vkadM+ksa dh laxfr
(c) O;kikj ,oa ewY;A
Explain the following terms :
(a) Order of classes
(b) Consistency of data
(c) Trade and prices.

[k.M (c)
(Section B)

4. fdUgha nks ?kVukvksa A vkSj B ds fy, fl¼ dhft, fd % 13/16
P(A ∪ B) = P(A) + P(B) – P(A ∩ B).
For any two events A and B, prove that :
P(A ∪ B) = P(A) + P(B) – P(A ∩ B).

5- izkf;drk Kkr dhft, fd 200 ds cDl esa vf/d ls vf/d 5 nks"kiw.kZ Ý;wt izkIr gksaxs tcfd
vuqHko crkrk gS fd ,sls Ý;wt 2% nks"kiw.kZ gSaA  13/17
Find the probability that at most 5 defective fuses will be found in a box of
200 fuses if experience shows that 2 percent of such fuses are defective.

6- Mhekboj ykIykl izes; dks dFku lfgr lR;kfir dhft,A  14/17
State and prove Demoiver-Laplace theorem.
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